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Q.1

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from the
given ones.

Women’s Right

Even after so many years of independence the women of
India are still exploited and abused, inspite of constitutional
guarantees and new laws. Man considers himself superior to
woman and her master. The orthodox system of the family is set in
his favour exclusively. Within the confines of domestic walls man
feels free to act like a merciless male chauvinist. The birth of female
child is considered a curse in most parts of our country. Without any
thought the female foetus is murdered. At practical level law fails to
protect a woman’s human rights. The situation is worse in rural
area. There the women slave for men considering it their fate and a
duty ordered by God Almighty. The rural women have no idea
about their legal rights and privileges.

It is not the illiterate women'’s fate only. Even educated
woman of urban areas who is gainfully employed does not use her
rights for fear of antagonizing her husband. She meekly gives in to
male arrogance to avoid domestic discord and physical abuse.

Thus, the male dominance continues to hold away at the cost
of the rights and the privileges of women. This factor has created
gross imbalance in the Indian families. Now-a-days the families do

not mind sisters, daughters and wives seeking gainful employment
as long as they don’t exercise their right to spend their earning as
they like. A working woman brings home tidy salary to add to the
family income but she cannot hope of any help from her husband in
doing domestic chores. She has to toil alone like a salve. For
husbands doing households work is below their dignity and as far as
the women are concerned it is their natural duty. The doubly
burdened women when they protest or complain the men ignore
them or react violently which results in the growing tension in
relationship. The resultant quarrels and maladjustments in the
family badly affect the children psychologically.

SubQuestion No : 1

Statement-(A) Man considers himself superior to woman
Reasoning-(B) The Indian orthodox system of the family
gives him an edge over woman

1. Both (A) and (B) are true but (B) is not responsible
for (A).

2. Both (A) and (B) are true and (B) is responsible for
(A).

3. Both (A) and (B) are true.

4. Both (A) and (B) are false.

Options 1. 1
2.2




3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.2

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from the
given ones.

Women’s Right

Even after so many years of independence the women of
India are still exploited and abused, inspite of constitutional
guarantees and new laws. Man considers himself superior to
woman and her master. The orthodox system of the family is set in
his favour exclusively. Within the confines of domestic walls man
feels free to act like a merciless male chauvinist. The birth of female
child is considered a curse in most parts of our country. Without any
thought the female foetus is murdered. At practical level law fails to
protect a woman’s human rights. The situation is worse in rural
area. There the women slave for men considering it their fate and a
duty ordered by God Almighty. The rural women have no idea
about their legal rights and privileges.

It is not the illiterate women'’s fate only. Even educated
woman of urban areas who is gainfully employed does not use her
rights for fear of antagonizing her husband. She meekly gives in to
male arrogance to avoid domestic discord and physical abuse.

Thus, the male dominance continues to hold away at the cost
of the rights and the privileges of women. This factor has created
gross imbalance in the Indian families. Now-a-days the families do

not mind sisters, daughters and wives seeking gainful employment
as long as they don’t exercise their right to spend their earning as
they like. A working woman brings home tidy salary to add to the
family income but she cannot hope of any help from her husband in
doing domestic chores. She has to toil alone like a salve. For
husbands doing households work is below their dignity and as far as
the women are concerned it is their natural duty. The doubly
burdened women when they protest or complain the men ignore
them or react violently which results in the growing tension in
relationship. The resultant quarrels and maladjustments in the
family badly affect the children psychologically.

SubQuestion No : 2

Study the following statements.
A) Women of India are exploited and abused.
B) There is no protection given for the rights of women
in Indian constitution.
C) The birth of a female child is considered as a blessing
as she is considered to be a symbol of Lakshmi.

Ais true and B and C are false.
B is true and A and C are false.
Cis true and A and B are false.
Both A and B are true and C is false.

s G

Options 1. 1




2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.3

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from the
given ones.

Women’s Right

Even after so many years of independence the women of
India are still exploited and abused, inspite of constitutional
guarantees and new laws. Man considers himself superior to
woman and her master. The orthodox system of the family is set in
his favour exclusively. Within the confines of domestic walls man
feels free to act like a merciless male chauvinist. The birth of female
child is considered a curse in most parts of our country. Without any
thought the female foetus is murdered. At practical level law fails to
protect a woman’s human rights. The situation is worse in rural
area. There the women slave for men considering it their fate and a
duty ordered by God Almighty. The rural women have no idea
about their legal rights and privileges.

It is not the illiterate women'’s fate only. Even educated
woman of urban areas who is gainfully employed does not use her
rights for fear of antagonizing her husband. She meekly gives in to
male arrogance to avoid domestic discord and physical abuse.

Thus, the male dominance continues to hold away at the cost
of the rights and the privileges of women. This factor has created
gross imbalance in the Indian families. Now-a-days the families do

not mind sisters, daughters and wives seeking gainful employment
as long as they don’t exercise their right to spend their earning as
they like. A working woman brings home tidy salary to add to the
family income but she cannot hope of any help from her husband in
doing domestic chores. She has to toil alone like a salve. For
husbands doing households work is below their dignity and as far as
the women are concerned it is their natural duty. The doubly
burdened women when they protest or complain the men ignore
them or react violently which results in the growing tension in
relationship. The resultant quarrels and maladjustments in the
family badly affect the children psychologically.

SubQuestion No : 3

Which of the following is responsible for the gross
imbalance in the Indian families?

A) Violation of women's rights.

B) Undue domination by the males.

C) Female foeticide.

Only A
BothBand C
BothAandB
Only C

e

Options 1. 1

2.2




3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.4

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from the
given ones.

Women’s Right

Even after so many years of independence the women of
India are still exploited and abused, inspite of constitutional
guarantees and new laws. Man considers himself superior to
woman and her master. The orthodox system of the family is set in
his favour exclusively. Within the confines of domestic walls man
feels free to act like a merciless male chauvinist. The birth of female
child is considered a curse in most parts of our country. Without any
thought the female foetus is murdered. At practical level law fails to
protect a woman’s human rights. The situation is worse in rural
area. There the women slave for men considering it their fate and a
duty ordered by God Almighty. The rural women have no idea
about their legal rights and privileges.

It is not the illiterate women'’s fate only. Even educated
woman of urban areas who is gainfully employed does not use her
rights for fear of antagonizing her husband. She meekly gives in to
male arrogance to avoid domestic discord and physical abuse.

Thus, the male dominance continues to hold away at the cost
of the rights and the privileges of women. This factor has created
gross imbalance in the Indian families. Now-a-days the families do

not mind sisters, daughters and wives seeking gainful employment
as long as they don’t exercise their right to spend their earning as
they like. A working woman brings home tidy salary to add to the
family income but she cannot hope of any help from her husband in
doing domestic chores. She has to toil alone like a salve. For
husbands doing households work is below their dignity and as far as
the women are concerned it is their natural duty. The doubly
burdened women when they protest or complain the men ignore
them or react violently which results in the growing tension in
relationship. The resultant quarrels and maladjustments in the
family badly affect the children psychologically.

SubQuestion No : 4

Which of the following situations supports the given
statement?
Statement: The situation of women is worse in rural areas.

A) Woman work like slaves in the fields.
B) Women do all the household chores.
C) Female foetus is no longer murdered in rural areas.

Ais true and B is false.
B is true and A is false.
Cis true and B is false.
Ais true and Cis false.

ol R A




|options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.5

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from the
given ones.

Women’s Right

Even after so many years of independence the women of
India are still exploited and abused, inspite of constitutional
guarantees and new laws. Man considers himself superior to
woman and her master. The orthodox system of the family is set in
his favour exclusively. Within the confines of domestic walls man
feels free to act like a merciless male chauvinist. The birth of female
child is considered a curse in most parts of our country. Without any
thought the female foetus is murdered. At practical level law fails to
protect a woman’s human rights. The situation is worse in rural
area. There the women slave for men considering it their fate and a
duty ordered by God Almighty. The rural women have no idea
about their legal rights and privileges.

It is not the illiterate women'’s fate only. Even educated
woman of urban areas who is gainfully employed does not use her
rights for fear of antagonizing her husband. She meekly gives in to
male arrogance to avoid domestic discord and physical abuse.

Thus, the male dominance continues to hold away at the cost
of the rights and the privileges of women. This factor has created
gross imbalance in the Indian families. Now-a-days the families do

not mind sisters, daughters and wives seeking gainful employment
as long as they don’t exercise their right to spend their earning as
they like. A working woman brings home tidy salary to add to the
family income but she cannot hope of any help from her husband in
doing domestic chores. She has to toil alone like a salve. For
husbands doing households work is below their dignity and as far as
the women are concerned it is their natural duty. The doubly
burdened women when they protest or complain the men ignore
them or react violently which results in the growing tension in
relationship. The resultant quarrels and maladjustments in the
family badly affect the children psychologically.

SubQuestion No : 5

Choose the correct option.
A) Most urban women give in to male arrogance
without any argument.
B) They are illiterate and unemployed.

1) Both (A) and (B) are true but (B) is not responsible
for (A).

2) Both (A) and (B) are true and (B) is responsible for
(A).

3) Aistrue but B is false.

4) Alis false but B is true.

Options 1. 1




2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from the
given ones.

Women’s Right

Even after so many years of independence the women of
India are still exploited and abused, inspite of constitutional
guarantees and new laws. Man considers himself superior to
woman and her master. The orthodox system of the family is set in
his favour exclusively. Within the confines of domestic walls man
feels free to act like a merciless male chauvinist. The birth of female
child is considered a curse in most parts of our country. Without any
thought the female foetus is murdered. At practical level law fails to
protect a woman’s human rights. The situation is worse in rural
area. There the women slave for men considering it their fate and a
duty ordered by God Almighty. The rural women have no idea
about their legal rights and privileges.

It is not the illiterate women'’s fate only. Even educated
woman of urban areas who is gainfully employed does not use her
rights for fear of antagonizing her husband. She meekly gives in to
male arrogance to avoid domestic discord and physical abuse.

Thus, the male dominance continues to hold away at the cost
of the rights and the privileges of women. This factor has created
gross imbalance in the Indian families. Now-a-days the families do

not mind sisters, daughters and wives seeking gainful employment
as long as they don’t exercise their right to spend their earning as
they like. A working woman brings home tidy salary to add to the
family income but she cannot hope of any help from her husband in
doing domestic chores. She has to toil alone like a salve. For
husbands doing households work is below their dignity and as far as
the women are concerned it is their natural duty. The doubly
burdened women when they protest or complain the men ignore
them or react violently which results in the growing tension in
relationship. The resultant quarrels and maladjustments in the
family badly affect the children psychologically.

SubQuestion No : 6

Q6  The orthodox system of the family is set in his favour

exclusively.
The underline word in the statement above is a/an

Options 1. 1
2.2
3.3
4.4




Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.7

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from the
given ones.

Women’s Right

Even after so many years of independence the women of
India are still exploited and abused, inspite of constitutional
guarantees and new laws. Man considers himself superior to
woman and her master. The orthodox system of the family is set in
his favour exclusively. Within the confines of domestic walls man
feels free to act like a merciless male chauvinist. The birth of female
child is considered a curse in most parts of our country. Without any
thought the female foetus is murdered. At practical level law fails to
protect a woman’s human rights. The situation is worse in rural
area. There the women slave for men considering it their fate and a
duty ordered by God Almighty. The rural women have no idea
about their legal rights and privileges.

It is not the illiterate women'’s fate only. Even educated
woman of urban areas who is gainfully employed does not use her
rights for fear of antagonizing her husband. She meekly gives in to
male arrogance to avoid domestic discord and physical abuse.

Thus, the male dominance continues to hold away at the cost
of the rights and the privileges of women. This factor has created
gross imbalance in the Indian families. Now-a-days the families do

not mind sisters, daughters and wives seeking gainful employment
as long as they don’t exercise their right to spend their earning as
they like. A working woman brings home tidy salary to add to the
family income but she cannot hope of any help from her husband in
doing domestic chores. She has to toil alone like a salve. For
husbands doing households work is below their dignity and as far as
the women are concerned it is their natural duty. The doubly
burdened women when they protest or complain the men ignore
them or react violently which results in the growing tension in
relationship. The resultant quarrels and maladjustments in the
family badly affect the children psychologically.

SubQuestion No : 7

‘is considered a curse in most parts .......
The word opposite in meaning to the underlined word is

1) blessing
2) irritation
3) nourishment
4) priority

Options 1. 1
2.2
3.3
4.4




Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from the
given ones.

Women’s Right

Even after so many years of independence the women of
India are still exploited and abused, inspite of constitutional
guarantees and new laws. Man considers himself superior to
woman and her master. The orthodox system of the family is set in
his favour exclusively. Within the confines of domestic walls man
feels free to act like a merciless male chauvinist. The birth of female
child is considered a curse in most parts of our country. Without any
thought the female foetus is murdered. At practical level law fails to
protect a woman’s human rights. The situation is worse in rural
area. There the women slave for men considering it their fate and a
duty ordered by God Almighty. The rural women have no idea
about their legal rights and privileges.

It is not the illiterate women'’s fate only. Even educated
woman of urban areas who is gainfully employed does not use her
rights for fear of antagonizing her husband. She meekly gives in to
male arrogance to avoid domestic discord and physical abuse.

Thus, the male dominance continues to hold away at the cost
of the rights and the privileges of women. This factor has created
gross imbalance in the Indian families. Now-a-days the families do

not mind sisters, daughters and wives seeking gainful employment
as long as they don’t exercise their right to spend their earning as
they like. A working woman brings home tidy salary to add to the
family income but she cannot hope of any help from her husband in
doing domestic chores. She has to toil alone like a salve. For
husbands doing households work is below their dignity and as far as
the women are concerned it is their natural duty. The doubly
burdened women when they protest or complain the men ignore
them or react violently which results in the growing tension in
relationship. The resultant quarrels and maladjustments in the
family badly affect the children psychologically.

SubQuestion No : 8

Q@8  \Which word from among the options given below means

the same as ‘disagreement’ as used in the passage.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ




Status : Answered

Chosen Option : 1

Comprehension:

Reads the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

When an animal such as a dog or cat, is sick or unwell its first
natural instinct is to refuse food. Their body automatically cuts
down appetite till they recover. They may drink water but nothing
else. This is body’s intelligence taking over to heal and recover.

Humans aren’t any different. At least, intuitively. All of us are
products of nature and we have been designed the same. When we
call in sick, the first thing that happens is that our appetites shut
down too. Our taste of mouth changes and our sensitivity to smell
and taste is numbed. This is our body’s intelligence trying to tell us
that it's time we give our body some rest.

This is fasting in a way and has been practised since the
longest time-across all religions. Fasting is inbuilt in us and is
considered medicinal if you actually go back and read its history. Itis
our body’s uncomplicated way of cleaning and healing.
Unfortunately, we have moved too far from nature and our natural
instincts. We are constantly eating and munching even when sick,
thereby compromising our own immunity and making the inbuilt
mechanism to heal.

Whereas take a break from eating, we put our digestive
system to rest first. Our digestive system utilises 80% of our body’s
energy, leaving only 20% for repair, recycling, eliminating etc. Now
when we slow down our eating, we redirect that huge chunk of
energy to healing, repair and immunity boost, which our digestive
system would consume otherwise. That's our immunity working for
us.

SubQuestion No : 9

Q9 wWe don't feel like eating:
1. when food is not to our taste.
2. when it is not properly cooked.
3. when we have just recovered from an illness.
4. when we are unwell.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ

Status : Answered

Chosen Option : 2




Comprehension:

Reads the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

When an animal such as a dog or cat, is sick or unwell its first
natural instinct is to refuse food. Their body automatically cuts
down appetite till they recover. They may drink water but nothing
else. This is body’s intelligence taking over to heal and recover.

Humans aren’t any different. At least, intuitively. All of us are
products of nature and we have been designed the same. When we
call in sick, the first thing that happens is that our appetites shut
down too. Our taste of mouth changes and our sensitivity to smell
and taste is numbed. This is our body’s intelligence trying to tell us
that it's time we give our body some rest.

This is fasting in a way and has been practised since the
longest time-across all religions. Fasting is inbuilt in us and is
considered medicinal if you actually go back and read its history. Itis
our body’s uncomplicated way of cleaning and healing.
Unfortunately, we have moved too far from nature and our natural
instincts. We are constantly eating and munching even when sick,
thereby compromising our own immunity and making the inbuilt
mechanism to heal.

Whereas take a break from eating, we put our digestive
system to rest first. Our digestive system utilises 80% of our body’s
energy, leaving only 20% for repair, recycling, eliminating etc. Now
when we slow down our eating, we redirect that huge chunk of
energy to healing, repair and immunity boost, which our digestive
system would consume otherwise. That's our immunity working for
us.

SubQuestion No : 10

Q10 \When we are not sick:

1. we feel hungry.
2. our sense of smell does not work.
3. we stop enjoying our food.
4, we want to drink only water.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Reads the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

When an animal such as a dog or cat, is sick or unwell its first
natural instinct is to refuse food. Their body automatically cuts
down appetite till they recover. They may drink water but nothing
else. This is body’s intelligence taking over to heal and recover.

Humans aren’t any different. At least, intuitively. All of us are
products of nature and we have been designed the same. When we
call in sick, the first thing that happens is that our appetites shut
down too. Our taste of mouth changes and our sensitivity to smell
and taste is numbed. This is our body’s intelligence trying to tell us
that it's time we give our body some rest.

This is fasting in a way and has been practised since the
longest time-across all religions. Fasting is inbuilt in us and is
considered medicinal if you actually go back and read its history. Itis
our body’s uncomplicated way of cleaning and healing.
Unfortunately, we have moved too far from nature and our natural
instincts. We are constantly eating and munching even when sick,
thereby compromising our own immunity and making the inbuilt
mechanism to heal.

Whereas take a break from eating, we put our digestive
system to rest first. Our digestive system utilises 80% of our body’s
energy, leaving only 20% for repair, recycling, eliminating etc. Now
when we slow down our eating, we redirect that huge chunk of
energy to healing, repair and immunity boost, which our digestive
system would consume otherwise. That's our immunity working for
us.

SubQuestion No : 11

Q11 The best way to treat sickness is :

1. to take medicines to clean our system.
2. to give some rest to our digestive system.
3. to try to eat only tasty dishes.
4, to shut down our appefite.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Reads the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

When an animal such as a dog or cat, is sick or unwell its first
natural instinct is to refuse food. Their body automatically cuts
down appetite till they recover. They may drink water but nothing
else. This is body’s intelligence taking over to heal and recover.

Humans aren’t any different. At least, intuitively. All of us are
products of nature and we have been designed the same. When we
call in sick, the first thing that happens is that our appetites shut
down too. Our taste of mouth changes and our sensitivity to smell
and taste is numbed. This is our body’s intelligence trying to tell us
that it's time we give our body some rest.

This is fasting in a way and has been practised since the
longest time-across all religions. Fasting is inbuilt in us and is
considered medicinal if you actually go back and read its history. Itis
our body’s uncomplicated way of cleaning and healing.
Unfortunately, we have moved too far from nature and our natural
instincts. We are constantly eating and munching even when sick,
thereby compromising our own immunity and making the inbuilt
mechanism to heal.

Whereas take a break from eating, we put our digestive
system to rest first. Our digestive system utilises 80% of our body’s
energy, leaving only 20% for repair, recycling, eliminating etc. Now
when we slow down our eating, we redirect that huge chunk of
energy to healing, repair and immunity boost, which our digestive
system would consume otherwise. That's our immunity working for
us.

SubQuestion No : 12
Q12 gtydy the following statements:

(a) When sick we are tempted to keep a munching.
(b) We hurt our immunity by continuous eating.

1. (a)is right and (b) is wrong.
2. (b)isright and (a) is wrong.
3. Both (a) and (b) are wrong.
4. Both (a) and (b) are right.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Reads the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

When an animal such as a dog or cat, is sick or unwell its first
natural instinct is to refuse food. Their body automatically cuts
down appetite till they recover. They may drink water but nothing
else. This is body’s intelligence taking over to heal and recover.

Humans aren’t any different. At least, intuitively. All of us are
products of nature and we have been designed the same. When we
call in sick, the first thing that happens is that our appetites shut
down too. Our taste of mouth changes and our sensitivity to smell
and taste is numbed. This is our body’s intelligence trying to tell us
that it's time we give our body some rest.

This is fasting in a way and has been practised since the
longest time-across all religions. Fasting is inbuilt in us and is
considered medicinal if you actually go back and read its history. Itis
our body’s uncomplicated way of cleaning and healing.
Unfortunately, we have moved too far from nature and our natural
instincts. We are constantly eating and munching even when sick,
thereby compromising our own immunity and making the inbuilt
mechanism to heal.

Whereas take a break from eating, we put our digestive
system to rest first. Our digestive system utilises 80% of our body’s
energy, leaving only 20% for repair, recycling, eliminating etc. Now
when we slow down our eating, we redirect that huge chunk of
energy to healing, repair and immunity boost, which our digestive
system would consume otherwise. That's our immunity working for
us.

SubQuestion No : 13

Q13 which of the following is suggested by this article?

1. While fasting our medicine get absorbed easily.
2. While fasting we eat only selective foods.
3. While fasting our body uses only 20% of its energy
for digesting.
4. While fasting our immune system gets a boost.
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Reads the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

When an animal such as a dog or cat, is sick or unwell its first
natural instinct is to refuse food. Their body automatically cuts
down appetite till they recover. They may drink water but nothing
else. This is body’s intelligence taking over to heal and recover.

Humans aren’t any different. At least, intuitively. All of us are
products of nature and we have been designed the same. When we
call in sick, the first thing that happens is that our appetites shut
down too. Our taste of mouth changes and our sensitivity to smell
and taste is numbed. This is our body’s intelligence trying to tell us
that it's time we give our body some rest.

This is fasting in a way and has been practised since the
longest time-across all religions. Fasting is inbuilt in us and is
considered medicinal if you actually go back and read its history. Itis
our body’s uncomplicated way of cleaning and healing.
Unfortunately, we have moved too far from nature and our natural
instincts. We are constantly eating and munching even when sick,
thereby compromising our own immunity and making the inbuilt
mechanism to heal.

Whereas take a break from eating, we put our digestive
system to rest first. Our digestive system utilises 80% of our body’s
energy, leaving only 20% for repair, recycling, eliminating etc. Now
when we slow down our eating, we redirect that huge chunk of
energy to healing, repair and immunity boost, which our digestive
system would consume otherwise. That's our immunity working for
us.

SubQuestion No : 14

Q14 ‘Our body’s uncomplicated way of cleaning......"

The underlined word means the same as:

1. correct
2. simple
3. probable
4, usual
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Reads the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

When an animal such as a dog or cat, is sick or unwell its first
natural instinct is to refuse food. Their body automatically cuts
down appetite till they recover. They may drink water but nothing
else. This is body’s intelligence taking over to heal and recover.

Humans aren’t any different. At least, intuitively. All of us are
products of nature and we have been designed the same. When we
call in sick, the first thing that happens is that our appetites shut
down too. Our taste of mouth changes and our sensitivity to smell
and taste is numbed. This is our body’s intelligence trying to tell us
that it's time we give our body some rest.

This is fasting in a way and has been practised since the
longest time-across all religions. Fasting is inbuilt in us and is
considered medicinal if you actually go back and read its history. Itis
our body’s uncomplicated way of cleaning and healing.
Unfortunately, we have moved too far from nature and our natural
instincts. We are constantly eating and munching even when sick,
thereby compromising our own immunity and making the inbuilt
mechanism to heal.

Whereas take a break from eating, we put our digestive
system to rest first. Our digestive system utilises 80% of our body’s
energy, leaving only 20% for repair, recycling, eliminating etc. Now
when we slow down our eating, we redirect that huge chunk of
energy to healing, repair and immunity boost, which our digestive
system would consume otherwise. That's our immunity working for
us.

SubQuestion No : 15

Q15 «  _has been practised since the longest time’.

The underline word is afan

1. Noun
2. Pronoun
3. Adverb
4, Preposition
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.16 Which of the following might be the best strategy for developing vocabulary among the students?

1) Memorising antonyms and synonyms.

2) Guessing the meaning of new words in a given context.
3) Consulting the dictionary for every new word.

4) Making sentences of all the new words.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q@17 picture chart can effectively be used for developing

1. speaking and listening skills
2. speaking and writing skills
3. reading and speaking skills
4. reading and listening skills
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q18  Semantics is the study of

1) sentence and their grammatical structure.
2) words and their meaning.

3) sounds and their articulation.

4) phonemes and their sounds.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.19  |n primary level classes, the student should be taught in their mother tongue because

1. it will enable students to comprehend bhetter.

2. it will create a formal environment for the students.
3. teacher will develop self-confidence.

4. it will promote regional language of the student.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 While evaluating reading comprehensive the test should have guotations based on

1. textual knowledge only.

2. deducting inference and interpretation from the given text.
3. writing an article on the passage.

4. summarising the key points.

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 4
Q.21

The selection of language items should involve the principle

1. Ample worksheets for practice
2. Everybody vocabulary and sentences
3. Learnability, coverage and teachability
4. Afocus a grammar rules
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3




Q22 wwhich of the following is not a speech organ?

1. Trachea
2. Larynx
3. Pharynx
4. Cervix
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.23 The purpose of remedial teaching is to

1. introduced grammar to existing items.
2. testthe knowledge of the students.
3. teach the language items not properly learnt again to the learners.
4. teach language items to the learners.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.24 \which of the following factors is the most important for language proficiency?

1) Reading with accurate pronunciation.
2) Doing exercise in good handwriting.
3) Developing accuré'cy and fluency.

4} Using low cost teaching aids.

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.25 CcChildren entering schools for the first time have already begun constructing knowledge of the world. Everything they
learn later will be in relation to this knowledge that they bring into the classroom. This knowledge is also

. intuitive
innate

. critical

. expressive

oo e

Options 1.
2.
3.
4.

A WO DN =

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.26 Ateacher of class III presents language items in the classroom and asks the learners to repeat after her. What is being

practised?

1. Direct method

2. Audio lingual method

3. Grammar translation method
4. Drill method

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q27 The term Linguistic Competence was first introduced by:

1. Stephen Krasher
2. Noam Chomsky
3. B.F. Skinner
4. Larry Selinker
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q28 which of the following descriptions best represent diversity?

1. It leads to similarity of people.

2. It accepts inequality among people.

3. It leads to discrimination among people.
4. It accept differences among people.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.29  While teaching English to primary class students which factors should be kept in focus:

1. All learners are alike in their aptitude
2. All learners come from similar family backgrounds
3. All learners are equally motivated to learn English language
4. All learners possess different abilities, personalities and belong to different backgrounds
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.30 Al children are born with an inner ability of language acquisitions consisting of

1) universal truth

2) universal method
3) universal vocabulary
4) universal grammar
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




